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SECTION A : ENGLISH

A. Tick the "synonym" of the following
words:

1. Happy:

sleep come joy weep
2. Fast:

slow speed easy skip
3. Big:

large kind make dry

B. Tick the "antonym" of the following
words:

4. Come:
go today huge run
5. Love:
see long hate blind
6. Danger:
threat safe bright dome

C. Translate the followings into English

7. | fodrstt fhar g1
my father was farmer
my father is farmer
my father is a farmer
my father will be a farmer

8. IH T X g 817
what are you doing
what you are doing
what you do
you are doing what

9. # dTHeh ST TG g
| want to be a science
| want to be a scientist
| am a scientist
| will be a scientist

D. Tick the correct spelling

10.
Reilway Relway Railway
ihil.,
Principel Principle
Principal Principil
12.
Grammer Gramar
Gramer Grammar

E. Tick the correct article
13. __umbrella

a an the none
14.  honest man

a an the none
15.  scientist

a an the none

@
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16) & <hT I=IRUT AT &
A TS 3T

B.g< 38

C.38

D.arq

17) =rfar <n1 ShfeT 2reg &
A.pfaat

B.erfaat

C.mfafsf

D.ahfadr

18) 3MTeh1T T Al &
A=t

B.grdTed

C.31 R

D.agerT

19) I &1 gataart ez 8
ATg

B.feama=

Cfa

D.b g1 ¢ &A1

SECTION B : fa<&

21) IUhR & Iy g
A.3T

B.shR

C.3R

D.3

22) A ¥ g ad-t 8
A 35T

B.35olad

C.3ssad

D IsTegdl

23) St agd ¥ dterdT gt
A dTETe

B. At

C.37eUsl

D g

24) & it 1 ITRUT @
A. d1dq

B.chus

C.qyt

D.37s

25) “dg ¥ g1 fiR1” § &hi 91 ehiReh 82
A.3UrerH

B.hoT

C.gueH

D.gay

26) TATh fraa A g ?
A.5
B.3
o!
D.6

27)91 3T & Aid<h @
A. THdE

B. ST UHTG

C. tufteR A1 39

D. eHdR YRdT

28) TR IfY) fohas uehR
haldg?

A.5

B.3

C.2

D.6

29) TEAER | hi< 91
quEa g ?

A.RHYRT 99T

B.agslife 9

C.dqey A

D.ge 999

30) fr=fefas geraxr o1
el o1 oR’aT 8: "Su+ 3R
# &t STerar?



SECTION C : General Awareness

31. Between which two planets is the Earth
located

A. Saturn and Mars

B. Jupiter and Venus

C. Mars and Venus

D. Saturn and Venus

32. Where is Shanti Stupa located
A. Bodh Gaya

B. Nalanda

C. Rajgir

D. Patna

33.How many degrees latitude line is called
Tropic of Cancer and Tropic of Capricorn
respectively

A.23°> N 23°Y2S

B. 23°%.S 23°%:N

C. 23°%:E 23°%W

D. None

34. By which method the age of remains of
human, animal or plant is determined

A. Carbon 14 method

B. Temperature rise method

C. Potassium Argon method

D. Stone hammer method

35. When was Gautam Buddha born
A.563 BC
B. 463 BC
C.540 BC
D.551BC

36. Kalidas has written
A. Abhijnan Shakuntalam
B. Daskumarcharitam

C. Rajtarangini

D. Rangbhoom

31) gt fra @t ugi F fra d R @
A. 14 3R HiTe

B. Jgeufd 3R ek

C. e 3R gk

D. 21 3R 3k

32) 2r1ifal &9 gl AT 8
A. SeRTaT

B. ATeiar

C. ISR

D. et

33) fora= f2uft aretriar 3T <Rl shHRT: hech @1 GUT
Hehx IET ehgl SIar g

A. 23°% N 23°Y%5S

B. 23°Y%S 23°%N

C. 23°%:E 23°Y>.W

DRCIEE]

34) A, u[ a1 uid & srader dhy urhaar ar
RAuiRor fora fafd @ o &

A. 1 14 ugfa

B. dTuHM gieg

C. urefrgs smis fafer

D. & g fafer

35) A 5, T ST-H hel ST AT
A.563 g1 gd
B. 463 a1 qd
C.540 saryd
D. 551 gar gd

36) sifeea Hr =1 8
A. AT HIAH
B. SOGHRIRTH,

C. JSIa=faoft

(P Trefd



37.During Inhalation the ribs

A. Move outwards

B. Move downwards

C. Move upwards and outwards
D. Do not move

38.The image formed by a convex mirror is
A. Virtual, erect

B. Real, inverted

C. Real, erect

D. Real, erect and smaller than the object

39.Which of the following is found only in
plant cells

A. Cell membrane

B. Cell wall

C. Vacuole

D. Cytoplasm

40.The only liquid metal
(at room temperature) is
A. Lead

B. Mercury

C. Graphite

D. Sodium

41.Water come out of leaves in the form of
water vapour, this process is called

A. Transpiration

B. Photosynthesis

C. Oxygen

D. None

42.Which of the following organisms have
hollow bones

A. Humans

B. Birds

C. Carnivorous animals

D. Fish

37) 3=d: 494 & Ay gdferai Irgx hY ok mfa aheelt
e

A. T &t 3R fd el @

B. 3R 3fR 918 <hl 31k 71fd ehedl &

C. nfa 781 et &

DRCIEE]

38) 31 gUuT ZIRT a1 ufafasa giar @
A. ST | Iier

B. adeh, 3eT

C. ardfaeh, e

D. aredfdes diem o arg € ster

39) 39 & - hae Uy HIfAhT & UTQ ST @
A. fRAepT feet!

B. ahifept fO=i

C. fhar

D. ahifAehT geg

40) UehATS %9 UTg @
A .3

B. ORT

C. UthIsc
D. gifsaw

41) 511 kY § ufrat @ Sterarg & U d Aaverd & 39
fora @t arga &

A. arsaiegsia

B. UhIRT AT

C. SliarS

DRCIEE |

42) fr=1 9 & fore Ssfia i sifedai @taed gidt @

A. 9\
B. geft
C. AMLIER! STHeR

D. A&t

®



43.Which of the following metals is found in
human blood

A.lron

B. Gold

C. Copper

D. Both (a) and (c)

44 .Recently concluded Lok Sabha elections
was of which series?

A.16

B.17

C.18

D.19

45.The new Chief Minister of Orissa has been
elected as

A. Mohan Yadav

B. Mohan Charan Manijhi

C. Naveen Patnaik

D. Sambit Patra

46.The full form of I.N.D.I.A. alliance party is
A. INDIAN NATIONAL Developmental Inclusive
Alliance

B. Indian National Democracy Inclusive
Alliance

C. Both

D. None

47. Who was the chairman of the drafting
committee of the Indian Constitution?

A. Pt. Jawaharlal Nehru

B. Bhim Rao Ambedkar

C. Rajendra Prasad

D. Sachchidanand Sinha

48. The parts of the Indian Parliament is/are
A. President

B. Lok Sabha and Rajya Sabha

C. Both

D. None

43) A | | I ©t T \1a =k | g1d St 8
A. tgr
B. 9T

C. diar
D.adurc el

44) g1 g1 # HU= §Q AhqHT gA19 fheat svF &
g4 9

A.16

B.17

C.18

D. 19

45) I & ¢ gEgwsi g7 1y §
A. Hig a1eq

B. A8 T=uT #ight

C. 949 gearah

D. Tfed amn

46) gfar (1.N.D.I.A.) ey # gf3ar &1 qrTam™ 8
A. INDIAN NATIONAL Developmental
Inclusive Alliance

B. Indian National Democracy Inclusive
Alliance

C. el

BRCAEET]

47) w<ftg Sfaum gt & ureg afafa (g
A ) < Siehel i &

A. T STaTER dTel A%

B. ofiq 31q sregax

C. et~ U9Te

D. Gf=ReEre g

48) YR 99< <k 3T g
A. Irgafa

B. SeharT dYT IS AT
C. gt

D. i3 78!
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49. In which year was the Tata Iron and Steel
Centre in Jamshedpur established?

A.1910

B. 1905

C. 1917

D. 1907

50. The best type of coal is
A. Peat

B. Lignite

C. Bituminous

D. Anthracite

51. Who started the construction of Qutub
Minar?

A. lltutmish

B. Qutubuddin Aibak

C. Ferozshah Tughlaq

D. Akbar

52. Where is the Meenakshi Temple located ?
A. Madurai

B. Thiruvananthapuram

C. Surat

D. Gaya

53. NIFE contains
A. Silica

B. Magnesium
C.lron

D. Gold

54. The amount of carbon dioxide gas in the
atmosphere is

A.20.99%

B. 0.94%

C.0.03%

D. 0.01%

49) SHtEyR R4 e1eT g F¥uTd dhg il RATYAT
fora adf <ht a1 oft

A.1910

B.1905

C. 1917

D. 1907

50) hIIT hT aiaH fohaT @
A. die

B. fererge
C. foghma

D. UYrEEe

51) FgaHI-IR ot fAmfor rd foram QR ahvamar ar
A. SeIdfae

B. $ddE M Useh

C. fUisiang Jireleh

D. 3fchaiR

52) fi-reft dfer hgr &
A. T2
B. fazsrdyzH

C. g
D. Tan

53) Ak A glarg
A. faferaT

B. Ty

C. dtgr

D. T

54) aRIHSH | dhId- SIS 1 hl AT &
A.20.99%

B. 0.94%

C.0.03%

D. 0.01%

@



55. How many seats are there in Bihar
Legislative Council

A.243

B. 40

C.16

D.75

56. The full form of EVM is

A. Electronic Vending Machine
B. Election Voting Machine

C. Election Vote Machine

D. Electronic Voting Machine

57. Mukesh Dalal has won the election
unopposed from which Lok Sabha constituency
A. Surat

B. Vadodara

C. Varanasi

D. Gandhinagar

58. The present Law Minister is
A. Amit Shah

B. Rajnath Singh

C. Arjun Ram Meghwal

D. Arjun Munda

59. Neeraj Chopra is related to which sport
A. Discus throw

B. Wrestling

C. Archery

D. Javelin throw

60. In IPL 2024, KKR (Kolkata Knight Riders)
defeated which team to win the final match
A. Mumbai Indians

B. Sunrisers Hyderabad

C. Rajasthan Royals

D. Chennai Super Kings

55) faeR faur uRue & fraa dic &
A. 243

B. 40

C.16

D.75

56) 3dg#H (E.V.M.)<hT Q=T ATH &
A giaei=e afs Afla

B. i’ aifé Aefie

C. 3etarM dte A=

D. etaei=es aife aefi=

57) fohe dteperT &5 | Fohar gote A fAfdRta gama
wiid &

A. Gd

B. dsigy

C. aRTord

D. TR

58) acHT= | e w3l §
A. 38 <18

B. Ioty g

C. 315} I HaTd

D. ST e

59) izt Tust fha @« 4 Tafda g
A. TR theh

B. gt

C. dRarsft

D. 7T theh

60) IPL 2024 ® KKR (ahieiehraT ATge I5sd ) 4
fora &9 Al g Sfar @

A. g8 gfsgg

B. OIS geXae

C. ST e

D. =g guRichma




61. The meeting of male and female gamets is
called

A. Pollination

B. Fertilization

C. Reproduction

D. Seed formation

62. What is the process of plating zinc on iron
called

A. Crystallization

B. Galvanization

C. Zincization

D.Bothbandc

63. Sea breeze blows
A. At night

B. During the day

C. Both

D . None

64. The hardest substance found in the human
body is

A. Bone

B. Nails

C. Hair

D. Enamel

65. Neutralization is which type of change
A. Physical change

B. Chemical change

C. Both

D. None

66. The first fully synthetic fibre is
A. Rayon

B. Nylon

C. Polythene

D. Terilon

61) =R Qd HIET giHh ol AT shgettdl
A. R

B.Fs=

C.STq4

D.sftet fafor

62) #iig R fSies ge hY ufehar a1 sgerar @
A\. eTeRT

B. fieaATgSiRM

C. STETehRuT

D. b Tg c =t

63) S 9HRR Tear
A.TdH

B.fea #d

C.aHi #

D. i3 78!

64) AT9g IRIR | UTAT ST 91T Shalkad ueref g
AT

B. ArgA
C. a1

D. g4Hd

65) Serfi-iierzur kY ferar fohg UehR &1 uRad= &
A 97 ufRads

B. TGmafeh ulRad=

C.g i

D.ahlS =Tgt

66) 9geTT guf U & Tsafdaumg
A. T

B. A<

C.giferefi=

D. ¢Ra

®



67. The microbe that converts milk into curd is
A. Plasmodium

B. Yeast

C. Fungus

D. Lactobacillus

68. The pressure of a liquid is measured by
A. Barometer

B. Manometer

C. Thermometer

D. None

69. Malaria is caused by
A. Bacteria

B. Protozoa

C. Fungus

D.virus

70. Complete the following
CuSO4+Fe=___ _+Cu

A. Fe

B.SO4

C. FeS0O4

D. CuFe

67) §Y &l &gl # age= arerT geA Sfia g
A TSHITSTH

B. diw

C.

D. derRieifRerd

68) &d <hT &I HTUT SITdT 8
A. SRR
B. iR
C. yqfdiex

DRCIEE]

69) HARAT AT kT FRUT &
A sSRar

B.UleISTa (reifsad )
C.%hdch

D.fawmog

70) = sl T a3
CuSO4 +Fe=___ +Cu
A. Fe

B. S04

C. FeS0O4

D. CuFe

SECTION D : MATHEMATICS

71. Find the odd one out of the four options

given below:
a)(-3,-6) b) (1,-10)
c) (-2,-7) d) (-4,-9)

72.If ‘ *’ is an operation such that for integers

aand b we have a*b =a.b + b.b - a.b .Then find
(-3)*2

a)l7 b) 19

c) -19 d) 18

73. Next three consecutive numbers in the

pattern are 11,8,5,2, ...., ...., ...
a) 0,-3,-6 b) -1,-5,-8
c) -2,-5,-8 d)-1,-4,-7

71. 2 Ry g ar el d & ez e gihg:
a)(-3,-6) b) (1,-10)
c) (-2,-7) d) (-4,-9)

72. & ¢ * ’ gen QET HTUR2A & 9@ guifer a 3k b
hfPugAaR U a*b =a.a+b.b —a.b g1at (-3)*2

¥Td g
a)l7 b) 19
c) -19 d) 18

73. Ge & srreft fi shwmTa @@=’ 11,8,5,2, ..., ...

, e 81
a) 0,-3,-6 b) -1,-5,-8
c)-2,-5,-8 d) -1,-4,-7



74.0n the following number line value ‘Zero’ is
shown by the point

a) X b)Y
c)Z d) W

75. Which of the following is not the additive
inverse of a?
a) -(-a)

c) -a

b) a*(-1)
d) a/-a

76. Which of the following shows the maximum
rise in temperature?
a) 23o0to 300
c) -18o to 110

b) -100 to 1o
d) -50 to bo

77.The numbers of factors of 36 is
a) 6 b)7
c)8 d) 9

78.The sum of first three common multiples of

3,4and 9
a)108 b) 144
c) 252 d) 216

79. What is the value of ‘LXXIV’ in Arabic
numerals ?
a) 75
c) 74

80. The product of the place value of two 2’s in
428721 is
a) 4

c) 400000

b) 40000
d)40000000

81. Which of the following fractions is the
smallest?
a) 11/9

c) 11/10

b) 11/7
d) 11/6

82. The numbers of diagonals of a pentagon is
a) 3 b) 4
c)5 d) 10

@

c)Z d) W

75. ffafE@a d @ i a &1 gta gerd T8 82
a) -(-a) b) a*(-1)

Cc) -a d)a/-1

76. =faf@a & | o= a1 arga= | sifderaw gieg
srfar g2

a) 2301to 300 b) -100 to 1o

c) -180 to 110 d) -50 to 5o
77.36 & TUFES! i ST g

a) 6 b) 7

c) 8 d)9

78.3,4 3R 9 & uyH = ard 7orst st g
a) 108 b) 144

c) 252 d) 216

79. 3=ef 3ieht & ‘LXXIV’ 1 |1 T 82
a) 75 b) 64
c) 74 d) 44

80. 428721 # &} 2 o T A1 &1 UG ga)
a) 4 b) 40000
c) 400000 d)40000000

81. Frafafaa & @ o= t fara 9 sid 82

a) 11/9 b) 11/7
c) 11/10 d) 11/6
82.Qeh UgYST & faenurl &l s g
a) 3 b) 4

c)5 d) 10



83. If a bicycle wheel has 48 spokes then the
angle between a pair at two consecutive spokes
is

a) 5*1/2
c) 2/11

b) 7*1/2
d) 2/15

84. If 2"1998- 271997 - 21996 + 21995 =
k.2"1995, then the value of k is

a)l b) 2

c)3 d) 4

85. Area of aright triangle is 54cm2. If one of its
legs is 12cm long ,its perimeter is
a)18cm b)27cm c¢)36cm  d) 54cm

86. The ratio of the number of sides of a square
to the number of edges of a cube is
al:2 Db)3:2 04:1 d)1:3

87. Which of the following is a pair of like
terms?

a) -7 xy2z, - 7x2yz
c) 3xyz, 3x2 y2 z2

b) - 10xyz2, 3xyz2
d) 4xyz2, 4x2yz

88. Identify the binomial out of the following:
a) 3xy2 +5y - x2y b) x2y — by — x2y
C) Xy +Yyz + 2zX d) 3xy2 + 5y — xy2

89. Calculate the simple interest on Rs. 8000
for 15 months at 6 paise per rupee per month
a) 7900  b) 7200 c) 8500 d) 6900

90. If Rs. 4 becomes Rs. 10 in 50 years at simple
interest, the rate % p.a. is

a)5% P)21/2% ¢)31/3% d)3%

91. If the price of a product is first decreased
by 25% and then increased by 20%, then what
is the percentage change in the price?

a)20% b)30% c) 10% d)15%

92. A number is decreased by 10% and then
increased by 10%. The number so obtained is
10 less than the original number. What was the
original number?
a) 900 b)1000

c) 1100 d) 1200

@)

83.7fe ek arsfohet & ufdd o 48 fifemai € at 2t

AT diferal & fira swr it g
a) 5*1/2 b) 7*1/2
c)2/11 d) 2/15

84. gfg 2°1998 - 21997 - 2"1996 + 21995 =

k2*1995 , @t k T AT @
a)l b) 2
c)3 d) 4

85. Teh GHehIUT Pt 1 Sithet 54 Q12 81 afy
TR Tk ot 12 Seft et , ot saent afemg aar 22
a)18cm b)27cm c¢)36cm d) 54cm

86. Geh it <l yaiTaiT Y Tt 3R gk a1 & fohart
&) ST &1 S1UTd 8
al:2 b)3:2 c)4:1 d)1:3
87. Frafaf@« d @ sla-ar ¥+ ugl o1 g 82
a) -7 xy2z, - 7x2yz b) - 10xyz2, 3xyz2

c) 3xyz, 3x2y2z2 d) 4xyz2, 4x2yz

88. fA=faf@a d | fgue i uga= ¥
a) 3xy2 + by — x2y b) x2y - by — x2y
C) Xy +yz + zX d) 3xy2 + by — xy2

89. 8000 TA W 6 GA ufa suaTufa ATg A ex & 15

T & fAQ gremrRor sarst & T Rl
a) 7900 b) 7200
c) 8500 d) 6900

90. gfe; FTYRUT =q1ST UR 50 a6l & 4 FUT 10 U gl
S 8, dt R % ufaad @
a)5% b)21/2% c)31/3% d) 3%
91. af foreft avq &1 e uget 25% TN ST 8 3R
= 20% sreTar SiTar 8, at g # ufasra aRads aar
8?
a)20%  b)30% c) 10% d)15%
92. ek AT d 10% <kt it hi 715 ik fohe 10% i
gfs & 151 39 YRR UTE HEAr g 9Ear € 10 wH gl
e St ot A?
a) 900 b) 1000

¢) 1100 d) 1200



93. A fruit seller had some apples. He sells 40%
apples and still has 420 apples. What is the total
number of apples he had originally?

a) 450 b) 650

c) 700 d) 750

94. Time taken by A to finish a piece of work is
twice the time taken B and thrice the time taken
by C. If all three of them work together, it takes
them 2 days to complete the entire work. How
much work was done by B alone?

a)2 days b)6 days

c)3 days d)5 days

95. Sonal and Preeti started working on a project
and they can complete the project in 30 days.
Sonal worked for 16 days and Preeti completed
the remaining work in 44 days. How many days
would Preeti have taken to complete the entire
project all by herself?

a)20 days b)25 days

c)55 days d)60 days

96. If John is taller than Peter, and Peter is taller
than Sam, who is the tallest?

a) John b) Peter

c) Sam d) Cannot be determined

97. What is the missing number in the series? 1, 4,
9,16, _ .

a) 20 b) 25

c) 30 d) 36

98. Complete the analogy: Fish is to Water as Bird
isto____.
a) Nest
c) Tree

b) Sky
d) Land

99. Five friends are sitting in a row facing north.
Jack is to the right of Jill and to the left of Joe.
Jillis to the left of Jane and to the right of Jim.
Who is sitting in the middle?

a) Jack b) Jill

c) Joe d) Jane

100. Arrange the following words in a logical

sequence:

1.Seed 2.Tree 3.Fruit 4.Plant b5.Flower
al, 4,523 b)1,4,2,5,3
c)1,4,5,3,2 d1,2,4,3,5

1)

93. Ueh the fashdT & U 5 99 &1 IF1 40% T a1
g siik 3uch ur ar3ft oft 420 Q9 73 &1 g7 FU | ITh

T e fohamt @a &2
a) 450 b) 650
c) 700 d) 750

94.A gRT fohelt sk apt gR1 &Ret A foran T 97 B gR1
forg g g &1 SR 92Ut C ZRT o ¢ 9wy @ i
T g1 afg & fiAt e wrd 1, af 38 o1 el grt
&1 | 2 e 1 €1 B ZIRT 31ehe foha=T et fovar man?
a)2 fe= b)6feT

c)3 fe= d)sfe=

95. HiFe 3R thifar A ueh Uistae WR & &t == fovam
3k & 30 =T A viciae QR1 R Tahd! &1 @9 A 16 faa
i fohar 3R fifa A Aw o 44 RAT & grr fmam shfar
ht 3Tchel ORT HiSiae ORT &t | fohant = ot giir?

)20 f&= b)25 &=

c)55 f&a d)60 fe=

96.72 St fiex @ va1 §, iR iR An A Far @, 9t 9=
daT R 82

a) S b) dtex

c) a4\ d) T =gt fosam S gerar

97. sfEaT A e =T 8? 1, 4, 9,16, .

a) 20 b) 25

c) 30 d) 36

98. HIET TRT he: HS! STef oh fIg a9 &t § 914 ueh
hfaggl

a) =g b) 3TTeRTRT

c)us d) S

99. uTd g 3R a2 it ik Yg e g uh A a3 &1
ek, et o a1 ok SR 51t & o o1k g1 e, S dh ard
3R IR S & 3 eik g1 Au A Al AT 82

a) Steh b) S

c) St d) S+

100. fA=fafEd gl &l aifher v # aaafea &::
1.ff51 2.981 3.%e 4.4teT 5.5

a)l1,4,5,2,3 b)1,4,2,5,3

c)1,4,5,3,2 d)1,2,4,35
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